

RFQ1834-23-12 A SITECH Ohio LLC Supplier Response

Event Information

Number: RFQ1834-23-12 A

Title: FOUR ROVER SETUPS
Type: Competitive Sealed Bid

Issue Date: 1/26/2023

Deadline: 2/5/2023 08:40 AM (ET)

Notes: All prices must be guaranteed for 120 days following bid closing.

Contact Information

Contact: KYLE O'DELL Address: ACCOUNTING

OHIO DEPARTMENT OF TRANSPORTATION - DISTRICT 12

5500 TRANSPORTATION BLVD GARFIELD HTS, OH 44125

Phone: (216) 584-2024

Email: kyle.o'dell@dot.ohio.gov

Page 1 of 5 pages Vendor: SITECH Ohio LLC RFQ1834-23-12 A

SITECH Ohio LLC Information

Address: 2355 Westbrooke Dr.

Columbus, OH 43228

Phone: (330) 855-6427

By submitting your response, you certify that you are authorized to represent and bind your company.

Steven Lucas Signature Slucas@sitechohio.com
Email

Submitted at 1/31/2023 10:33:40 AM (ET)

Response Attachments

Odot District 12 4 TSC7 and R780 1.31.2023.pdf

4 TSC7 and R780 Rover Set up with Trimble Siteworks

Bid Attributes

1 Terms and Conditions Acknowledgement

I certify that I have read, understand and agree to the terms and conditions contained on this bid.

☑ I Certify (Certified)

2 Affirmation and Disclosure Form

I certify that I have read, understand, completed, and submitted the Affirmation and Disclosure Form contained on this quote request. **Failure to submit a signed Affirmation and Disclosure Form will result in the disqualification of the quote.

☑ Affirmation and Disclosure Form (Affirmation and Disclosure Form)

3 Estimated Completion Date

Please enter the estimated completion date for this project.

2/9/2023

4 Freight Charges: FOB Destination

DELIVERY/FREIGHT CHARGES: Unless otherwise stated, the Department shall not be responsible for freight or delivery charges. Prices submitted are to be based upon the products or services being offered **F.O.B. destination**, freight prepaid by the Vendor to the locations set forth in the RFQ/ITB or as listed on the purchase order issued pursuant to any contract awarded. Any shipment marked C.O.D. shall be rejected and returned at the Vendor's expense.

Bid Lines

1	Trimble TSC7 Controller - QWERTY keypad, USB/Serial boot.						
	Quantity: 4	JOM: EA	Unit Price:	\$4,882.50	Total:	\$19,530.00	
	Manufacturer:	Trimble					
	Manufacturer #:	TSC701					
	Item Notes: IF BIDDING ALTERNATE ITEM, SPECIFICATIONS MUST BE ATTACHED						

Page 2 of 5 pages Vendor: SITECH Ohio LLC RFQ1834-23-12 A

2	Siteworks/SCS900 Standard					
	Quantity: 4	JOM: <u>EA</u>	Unit Price:	\$2,334.60	Total:	\$9,338.40
	Manufacturer:	Siteworks				
	Manufacturer #:	SCS900-20				
	Item Notes:	IF BIDDING ALTERNATE IT	EM, SPECIFICATIONS M	IUST BE ATTACH	ED	
3	Siteworks/SCS9	00 Roading				
	Quantity: 4	JOM: EA	Unit Price:	\$1,017.00	Total:	\$4,068.00
	Manufacturer:	Siteworks				
	Manufacturer #:	SCS900-22				
	Item Notes:	IF BIDDING ALTERNATE IT	EM, SPECIFICATIONS M	IUST BE ATTACH	ED	
4	Siteworks/SCS90	00 Advanced Measuremen	t Module			
	Quantity: 4	JOM: EA	Unit Price:	\$509.40	Total:	\$2,037.60
	Manufacturer:	Siteworks		*****		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
	Manufacturer #:	SCS900-23				
	Item Notes:	IF BIDDING ALTERNATE IT	EM, SPECIFICATIONS M	IUST BE ATTACH	ED	
5	Trimble TSC7 A	ccessory - Pole Bracket wit	h Pole Mount			
5				\$219.60	Total:	\$878.40
	Quantity: 4 UManufacturer:	Trimble	Unit Price:	\$219.00	Total.	φ070.40
	Manufacturer #:					
	Item Notes:	IF BIDDING ALTERNATE IT	EM. SPECIFICATIONS M	IUST BE ATTACH	ED	
•			·			
6		ory - Carry Case Shoulder E				
	Quantity: 4		Unit Price:	\$79.20	Total:	\$316.80
	Manufacturer:					
	Manufacturer #:	121354-01-		NIOT DE ATTACL		
	Item Notes:	IF BIDDING ALTERNATE IT	EM, SPECIFICATIONS IV	1051 BE ATTACH	ED	
7	Trimble Accesso	ry - 12V Vehicle Adapter				
	Quantity: 4	JOM: <u>EA</u>	Unit Price:	\$213.30	Total:	\$853.20
	Manufacturer:	Trimble				
	Manufacturer #:	104980-01-				
	Item Notes:	IF BIDDING ALTERNATE IT	EM, SPECIFICATIONS M	IUST BE ATTACH	ED	
8	Trimble TSC7 and T7 Accessory - Ext. Battery Charger w/ Int.					
	Quantity: 4	JOM: <u>EA</u>	Unit Price:	\$463.50	Total:	\$1,854.00
	Manufacturer:	Trimble				
	Manufacturer #: 121350-01-					
	Item Notes: IF BIDDING ALTERNATE ITEM, SPECIFICATIONS MUST BE ATTACHED					

Page 3 of 5 pages Vendor: SITECH Ohio LLC RFQ1834-23-12 A

9	GPS Kit - 2m Range Pole,	Quick Release Bipod, Topo Shoe,				
	Quantity: 4 UOM: EA	Unit Price:	\$534.60	Total:	\$2,138.40	
	Manufacturer #: 55201-00)				
	Item Notes: IF BIDDING ALTERNATE ITEM, SPECIFICATIONS MUST BE ATTACHED					
1	Kit GNSS, R780 Smart And	Kit GNSS, R780 Smart Antenna, WiFi and 900 MHz Radio				
0	Quantity: 4 UOM: EA	Unit Price:	\$4,720.50	Total:	\$18,882.00	
	Manufacturer #: CON-R78	30-				
	Item Notes: IF BIDDING ALTERNATE ITEM, SPECIFICATIONS MUST BE ATTACHED					
1	Option - Premium Precise	Rover, includes Tilt and all				
1	Quantity: 4 UOM: EA	Unit Price:	\$13,279.50	Total:	\$53,118.00	
	Manufacturer #: PPR-IMU	-01				
	Item Notes: IF BIDDIN	G ALTERNATE ITEM, SPECIFICATION	NS MUST BE ATTACH	ED		
1	Dual Slot Charger without	Cables or Power Supply				
2	Quantity: 4 UOM: EA	Unit Price:	\$486.00	Total:	\$1,944.00	
	Manufacturer #: 109000-F	IH				
	Item Notes: IF BIDDIN	G ALTERNATE ITEM, SPECIFICATION	NS MUST BE ATTACH	ED		
1	Power Cord Kit - USA, EU,	UK, AUS with C7 Connector				
3	Quantity: 4 UOM: EA	Unit Price:	\$22.50	Total:	\$90.00	
	Manufacturer #: 78651					
	Item Notes: IF BIDDIN	G ALTERNATE ITEM, SPECIFICATION	NS MUST BE ATTACH	ED		
1	Cable - 7P Lemo (R780, S	PS98x) to USB-A				
4	Quantity: 4 UOM: EA	Unit Price:	\$91.80	Total:	\$367.20	
	Manufacturer #: 80751-H	1				
Item Notes: IF BIDDING ALTERNATE ITEM, SPECIFICATIONS MUST BE ATTACHED						
1	SPS Quicklock					
5	Quantity: 4 UOM: EA	Unit Price:	\$147.60	Total:	\$590.40	
	Manufacturer #: 84690-00)				
	Item Notes: IF BIDDING ALTERNATE ITEM, SPECIFICATIONS MUST BE ATTACHED					
1	Kit - Battery, Li-Ion, 7.2V 22	200mAHr				
6	Quantity: 12 UOM: EA	Unit Price:	\$112.50	Total:	\$1,350.00	
	Manufacturer #: 192670-2					
	Item Notes: IF BIDDING ALTERNATE ITEM, SPECIFICATIONS MUST BE ATTACHED					
1	Power supply, 110-240V 100W, power supply for smart					
7	Quantity: 4 UOM: EA	Unit Price:	\$69.30	Total:	\$277.20	
Manufacturer #: 107000-HH						
	Item Notes: IF BIDDING ALTERNATE ITEM, SPECIFICATIONS MUST BE ATTACHED					

Page 4 of 5 pages Vendor: SITECH Ohio LLC RFQ1834-23-12 A

1 8	ANTENNA 900/2400 MHZ RP TNC WATER RESISTANT					
	Quantity: 4	UOM: EA	Unit Price:	\$58.50	Total:	\$234.00
	Manufacturer #:	66540-10				
	Item Notes: IF BIDDING ALTERNATE ITEM, SPECIFICATIONS MUST BE ATTACHED					

Response Total: \$117,867.60

Page 5 of 5 pages Vendor: SITECH Ohio LLC RFQ1834-23-12 A